AYE AjYE(s1t) B M 715 CIEtEE gt S

o=
4l 4:6 -7
J|I== Eh=SHA| SiLiED SAIRE S sl= A0|C 2l StLEES| XHHZA =S 7}XI.T'_ 24
o| =z} otofl BCHS] LiotZ &= QUCH J|I=EEM °EI= stLiEM <2[2] OIES LIE = U2, §
LiE el SES Zdasil, a2l MZAM S2IstH, FH<e| 520] 0|F0{X|7|= SiC}. ZLEiEE oy
st 7|2 d2|Aa= QMM LS| XL & AIE.“.’_*OI g 3 qICt

1. 2 7I=sHoF 5ft ?

1) SiLbEt »AIsH] 2150 (814:16)

2) siLIEE J3t&EA 3171 fI8H (R14:13)
3) Gl YIS fldl

4) stLbEel AIEIE 0171 <3l

5) LIl &3S Of2|7] Sl (L4:6-7)

2. AXl 7|=5Ho} SIL}?

1) #elglo] JI=35t= XIMI7I ERSEICH (&F5:17)
2) I SEt AIZHE Ul=2 FsHo stCh(The: 10, 3:1)

3) AE2E 20{ &M JI=slof StCh(Ot18:19-20)

1) &Hk- (CH&}F 29:10-11)
2) - (2e1:9, A|32:5)
3) ZAL- (Y5:20,Al 100:4)
( OIS0l EX 2= LN ZAFE 5= 210{0F it )
4) EH-(Y6:18, B4:2-4, A5:16, EIF2:2)
5) Z+*-(0}7:7-8, R15:7)

I=7p
T SIAIX| pt2dict. fa2l= Bhes| fltisid SiLiHS

4. O & JIXIZ JISE 4
siLids S0 siie uss

olopy EiC}.

;O

Fo

1) ks okof| 7{5t2l (R15:7)
Lio| 0|22 P2t (2 1414, R16:24)
3) slgoZ Jsial (O 21:22)



